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MARK SCHEME Section A

Question

Answer/Indicative content

Mark

Guidance

Using these four sources in their historical context,
assess how far they support the view that England
was a protestant country by the death of Edward VI
in 1553.

¢ In discussinghow Source A does ordoes not
support the view, answers might refer to the
removal of images, whiteliming and the selling of
various Catholic artefacts.

¢ In discussingthe provenance of Source A,
answers might consider that itis a record from
the churchwardens in a Midlands church.

¢ In discussingthe historical context of Source A,
answers might consider that the record covers
the whole of Edward’s reign and that some
moves, such as the removal of the rood loft took
place only at the end of his reign.

¢ In discussinghow Source B does not support
the view, answers might refer to the lack of
clergy, reading the service quickly and the lack of
time available in parliament for the discussion of
Church affairs.

¢ In discussingthe provenance of Source B,
answers might consider that Bucer was a
Protestant and might hope for faster progress; he
was also writing to Calvin and might want to
explain the reasons for the slow progress.

¢ In discussingthe historical context of Source B,
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¢ No set answer is expected.

o At Level 5 there will be judgement about the issue in
the question.

¢ To be valid judgements they must be supported by
accurate and relevant material.

¢ At Level 4 and below, answers may be simply a list of
which sources support or challenge the view in the
question.

¢ Knowledge must not be credited in isolation, it should
only be credited where it is used to analyse and
evaluate the sources, in line with the descriptions in
the levels mark scheme
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answers might consider that this was written
near the start of Edward’s reign and that the
speed of reform would increase after the fall of
Somerset.

¢ In discussinghow Source C does not support
the view, answers might refer to the numbers
who were absent from church and had to be
fined.

¢ In discussingthe provenance of Source(,
answers might consider that itis from an official
Act of parliament and might be designed to
‘encourage’ attendance, but it is a concern that it
is passed in1552.

¢ In discussingthe historical context of Source C,
answers might refer to the reaction to the First
Book, which had led, at least in part to the
Western Rebellion.

¢ In discussinghow SourceD does supportthe
view, answers might refer to the giving of
communion in both kinds and the stress on
remembrance, both of which were Protestant
practices.

¢ In discussingthe provenance of SourceD,
answers might refer to the official nature of the
source, but note that it does not mean it was used
or that people accepted it.

¢ In discussingthe historical context of Source
D, answers might consider that a fully Protestant
service did not comein until 1552 and that it
might be difficult to enforce as it was more
Protestant than 1549 which had caused unrest.

How far did Puritanism change during Elizabeth’s
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reign?

In arguing that Puritanism did change:

e Answers might consider the growth of
radicalism and separatism, such as the
Brownists.

¢ Answers might consider that at the start of the
period Puritans attempted to bring about change
through Parliament, using propaganda, but this
was abandoned later, and separatism emerged.

¢ Answers might consider that the term was
initially used to describe more enthusiastic
Protestants but by the 1570s was used to
describe those who refused to use many of
practices in Prayer Book.

e Answers might consider that the failure of
Cope’s proposals led to a change in method from
Parliament, and this led to an appeal to public
opinion with The Admonition to Parliament in
1572.

¢ Answers might consider the emergence of the
classis movement.

In arguing that Puritanism did not change:

e Answers might consider that Puritanism was
always a minority movementand never
attracted mass support.

e Answers might consider that Puritans continued
to object to wearing surplices and continued to
raise objections to vestments.

e Answers might consider that Puritans continued
to oppose elements of the Thirty-Nine Articles.

o No set answer is expected.

¢ At higher levels, candidates will focus on weighing up
the extent of change; but at Level 4, may simply list
changes).

e At Level 5 there will be judgement as to whether
‘Puritanism did change’ or not.

¢ At higher Levels candidates might establish criteria
against which to judge ‘change’.

e To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

e Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with descriptionsin
the levels mark scheme.
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e Answers might consider that Puritans continued
to attempt to change the Prayer Book.

¢ Answers might consider that throughout
Puritans continued to try and raise clerical
standards and supported efforts through
prophesyings.

How serious were the problems Elizabeth faced in the
period after 1588?

In arguing that the problems were serious:

e Answers might consider that the social and
economic problems of inflation and bad harvests
were serious.

e Answers might consider that unrest in Ireland, with
Tyrone, was serious as it cost a lot and took until
her death to suppressit.

e Answers might consider that the threat from Spain
remained, with two further Armadas and support
for Tyrone.

e Answers might consider the problem of finance,
which was made worse by the cost of war.

e Answers might consider the problem of her
relations with Parliament overissues such as
Monopolies.

e Answers might consider the factional unrest
between Cecil and Essex.
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o No set answer is expected.

¢ At higher levels, candidates will focus on weighing up
the seriousness of problems; but at Level 4, may
simply list problems.

e At Level 5 there will be judgement as to whether the
problems Elizabeth faced at that time were serious.

¢ At higher Levels candidates might establish criteria
against which to evaluate ‘how serious’ different
problems were.

e To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

e Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with descriptions in
the levels mark scheme.




In arguing that the problems were not serious:

e Answers might consider the lack of support for the
Oxfordshire Rising of 1596.

e Answers might consider the limited unrest caused
by the social and economic problems.

e Answers might consider that Spain was no longer
such a threat after 1588.

e Answers might consider that her Golden Speech and
reforms to monopolies won her parliamentary
support.

e Answers might consider that the Essex rebellion was
crushed easily.

e Answers might consider that factional unrest did
not disrupt the running of government.

¢ Answers might consider that there was little loss of
popular support.

¢ Answers might consider that the religious problems
with the Catholics and Puritans were largely
defeated.




APPENDIX 1 — this contains a generic markscheme grid

AO2: Analyse and evaluate appropriate source materials, primary and/or contemporary to the period, within its historical context.
Generic mark scheme for Section A, Question 1: How far do the four sources support the view? [30]
Level 6 The answer has a very good focus on the question throughout. The sources are fully evaluated, using both provenance and detailed
26-30 and accurate knowledge of their historical context in abalanced way, in order to engage with the sources and reach a convincing, fully
marks supported analysis of themin relation to the issue in the question.
Level 5 The answer has a good focus on the question. The sources are evaluated, using both provenance and relevant knowledge of their
21-25 historical context, in order to engage with the sources and reach a supported analysis of them in relation to the issue in the question.
marks There may be some imbalance in the analysis between use of provenance and use of knowledge.
Level 4 The answer is mostly focused on the question. The sources are evaluated, using both provenance and generally relevant knowledge of
16-20 their historical context, in order to engage with the sources and produce an analysis of them in relation to the question. The use of
marks provenance may not be developed.
Level 3 The answer is partially focused on the question. There is partial evaluation of the sources, with use of some knowledge of their historical
11-15 context, in order to engage with the sources and produce a partial analysis of themiin relation to the question.
marks
Level 2 The answer has only limited focus onthe question. Evaluation of the sources is very general. There is limited use of generalized
6-10 knowledge of historical context to engage with the sources and produce a basic analysis of them in relation to the question.
marks
Level 1 This answer is on the wider topic area, but not on the detail of the question. The sources are evaluated in a very basic way, primarily
1-5 being used as a source of information with understanding of them being only partial. A very generalised knowledge of historical
marks context is used in avery limited way to engage with the sources and to attempt a very simple analysis of them in relation to the
question.
0 marks No evidence of understanding or reference to the sources.




AO1: Demonstrate, organise and communicate knowledge and understanding to analyse and evaluate the key features related to the
periods studied, making substantiated judgements and exploring concepts, as relevant, of cause, consequence, change, continuity,
similarity, difference and significance.

Generic mark scheme for Section B, Questions 2 and 3: Essay[20]

Level 6 There is a consistent focus on the question throughout the answer. Accurate and detailed knowledge and understanding is
17-20 demonstrated throughoutthe answer and is consistently evaluated and analysed in order to reach substantiated, developed and
marks sustained judgements.

There is awell-developed and sustained line of reasoning which is coherent and logically structured. The information presented is
entirely relevant and substantiated.

Level 5 There is amostly consistent focus on the question. Generally accurate and detailed knowledge and understanding is demonstrated
13-16 through most of the answer and is evaluated and analysed in order to reach substantiated judgements, butthese are not consistently
marks well-developed.
There is awell-developed line of reasoning which is clear and logically structured. The information presented is relevant and in the most
part substantiated.
Level 4 The question is generally addressed. Generally accurate and sometimes detailed knowledge and understanding is demonstrated
10-12 through most of the answer with evaluation and some analysis, and this is used appropriately to supportthe judgements that are
marks made.

There is aline of reasoning presented with some structure. The information presented is in the most-part relevant and supported by
some evidence.

Level 3 The question is partially addressed. There is demonstration of some relevant knowledge and understanding, which is evaluated and
7-9 analysed in parts of the answer, but in places knowledge is imparted rather than being used. The analysis is appropriately linked to
marks the judgements made, though the way in which it supports the judgements may not always be made explicit.
The information has some relevance and is presented with limited structure. The information is supported by limited evidence.
Level 2 The focus is more on the topic than the specific demands of the question. Knowledge and understandingis limited and not well used,
4-6 with only limited evaluation and analysis, which is only sometimes linked appropriately to the judgements made.
marks The information has some relevance, but is communicated in an unstructured way. The information is supported by limited evidence
and the relationship to the evidence may not be clear.
Level1 The answer relates to the topic but not the specific question. The answer contains only very limited relevant knowledge which is
1-3 evaluated and analysed in a very limited way. Judgements are unsupported and are not linked to analysis. Relevant knowledge is
marks limited, generalised and poorly used; attempts at argument are no more than assertion.
Information presented is basic and may be ambiguous or unstructured. The information is supported by limited evidence.
0 marks No evidence of understanding and no demonstration of any relevant knowledge.
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APPENDIX 2 — this section contains additional subject specific information

Use this space if you have extensive subject specific information that is inappropriate to include elsewhere.
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